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SECTION A {Answer ALL questions on a mark reading sheet provided)

1.  For a sentence to be regarded as indeterminate, it must be longer than
1 five years
2. sevenyears
3 twelve years
4.  twenty years.

)

2 A suspended sentence serves the purpose of . . deterrence
1 individual
2 specific
3 general
4 tuture

(1)

3 Which type of sentence 1s descnbed as an “appreciable sentence™?

1 corractional supervision
2 community service
3 direct imprisonment
4 penodic impnscnment
(1)

4 Jenny 1s attacked and raped after going to a movie  She 1s blamed by her family and community
for the rape, as she was warned not to go to the mowvies alone The fact that Jenny 1s blamed by
the community 1s an indication that she s ...

1 responsible for her victimisation
2 a vichm of primary victimisation
3 a victim of secondary vichmisation
4.  no vichm at aii.
(1
5 The duration of periodic imprisonment to which an offender may be sentenced can vary from

to . hours

24,150
72,1200
100, 2000
150, 1672

B W =

(1
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The presentencing report forms the core of the .. of the offender

personality and make-up

personal circumstances and environment
factual and diagnostic study

history and background

O =

(1)

Treating offenders 1s a complicated task that involves varous experts and departments This
refers to .. treatment

behavioural
meta-analytical
cognitive
multi-systemic

TN

M

Sally 1s convicted of culpable homicide and driving under the influence of alcohol after colliding
with a motonist, killing him instantaneously Sally is instructed by the court to pay the motornist's
family a certain amount of money In terms of the Cniminal Procedure Act, Act 51 of 1977, this
refers to .

compensation,
restitution.
restorative justice
a community fine

PO =

(1)

Sentencing 1s one of a presiding officer’'s most difficult tasks  Which of the following combinations
represent Van der Merwe's three approaches of sentencing?

The constitutional approach, the consistent approach and the indeterministic approach
The intuhive approach, the rational approach and the empincal approach

The deterministic approach, the balanced approach and the hardhearted approach
The aggravating approach, the rational approach and the empinical approach

WON =

(1)

Rehabilitation 1s one of the aims of punishment  Should punishment be part of rehabilitation?

1 Yes, punishment has certain inherent qualities that can contribute to the rehabilitation of the
offender

2. No, rehabilitation deals with the pursuit of a new value system, and punishment does not
form part of it

3 No, purishment does not provide the oppartunity for posttive behaviour change
4 Yes, but it 1s only of imited value and there i1s no indication of moral influence

(1)
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Periodic imprisonment 1s a competent sentence in respect of any cnme, except for cnmes where
a minimum sentence 1S prescribed by law. Offenders serve their sentences in penods of time .,
and are released after this period to resume their normal work and family responsibiities

el A

between 24 and 48 hours at a trme
between 16 and 24 hours at a time
between 24 and 72 hours at a time
between 16 and 48 hours at a time

(1)

South Afnca 1s a country that 1s characterised by high cnme rates. Rapd changes and the high
rate of urbanisation are also contnbuting to this situation According to Mogoeng (2006}, which
of the following factors might contribute to a more stable community?

ral Sl

responsible justice

predictable and responsible actions
belief and trust in justice

responsible and affordable sentencing

(1)

According to Garkawe (2006) there have been a few criticisms by experts regarding victim impact
statements. Identify the INCORRECT criticism

1.

2.

The victim impact statement may lead the court to put too little emphasis on the effect that
the cnme had on the victim,

It could place an additional load on an already overloaded justice system in that it could
extend the tnial and make it more expensive

It could have a negative effect on the consistency of sentences, especially if 1t 15 not
submitted in all serious cases

It could emphasise the retnbution and revenge aspect of punishment

(1)

Which of the followming theornies concentrate on personal responsibility as opposed to retribution in
deciding on a suitable punishment for an offender?

1
2
3
4

social reintegration
multi-systemic
neo-utilitanan
restorative justice

(1)

The “Inkanyez! yentathakusa” project is part of the NICRO programme. The objectives are to

1.
2.
3
4

enhance famdy involvement and contact with the offender.

increase awareness of the nghts and responsibiihes of famiies while at home
involve the communities in the rehabilitation and reintegration of offenders
engage in group discussions and contact with the community

1)
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Sentencing 1s regarded as a humane process Which one of the following options includes the
elements of sentencing as a humane process?

1.  Jundical balance, discretion of presiding officer, fair sentencing, sentencing is not aimless.

2.  Judge's view of humankind; consistent sentencing; judgement decision making inspired by
humaneness

3. Jundical balance; judge's view of humankind, discretion of presiding officer; consistent
sentencing.

4.  Drscretion of presiding officer; consistent sentencing, fair sentencing, making judgement
decision inspired by humaneness

(M

When compiling a presentencing report one needs to remember that the am of the report 1s to
assist the court in its assessment of

who the offender I1s and what the best action would be to take against the hm/her
who the offender is and whether the he/she 1s guilty.

who the offender 1s and whether the he/she 1s not guilty

who the offender 1s and what cnme did the he/she commit.

BON =

(1)

It i1s said that there are so many criminal factors present inside a cotrectional centre that it is likely
that a person will learn even more about cnme inside the centre  You are appointed as the new
correctional head, and your approach i1s to focus stnctly on neutralising crminality and
criminogenic factors nside the institution  Which approach to treatment in the institution will you
utiise?

rehabilitative approach
broad approach
ethical approach
aetiological approach

IR

(1)

The premise that offenders are responsible for their own behaviour and have the ability to lead
law-abiding hves, is part of the  model

medical
adaptation
adjustment
remtegration

pop—

(1)

A teenager who was vandalising llon cages at the Pretoria Zoo was sentenced to community
service The sentence specriies that the teenager will have to clean cages at the zoo for one year.
What is the amount of hours the teenager may be working at the Zoo each month?

12 hours
16 hours
24 hours
48 hours

B

(1
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The Department of Correctional Services (DCS) embarked on a process of transformation where
humane .. and s at the centre of their core business

1 treatment and safety

2 purishment and treatment
3  custody and rehabilitation
4 treatment and rehabilitation

(1)

Because victims have always feit left-out by the cnminal justice system a need was expressed to
Involve victims 1in the judicial decision-making process and entitle them to certain services
Indicate which of the following options are NOT related to this statement

(a) A nghtto call upon financial and practical support in the period following the offence
(b) The nght to be consulted on whether or not to prosecute the offender

{c) The right to be consulted on bail and punitive decisions

(d) The nght to make an input during parole decisions

Choose the most correct combination

(a} and (b)
(a) and (c)
{p) and (c)
(c) and (d)

WM =

(1

The cnime, the accused and the interests of the community have to be taken into consideration
when deciding on an appropnate sentence These three factors are generally referred to as

the traditional tnad.
objective of pumishment.
circumstances of purpose
proportionahty principles

BN =

(1)

The aims to enhance community based programmes established on multi-disciphnary approaches
Involve

effective supervision of pnisoners released on parole

partnerships between Department of Correctional Services (DCS) and the community
the promotion of effective community policies

the protection of the community

AN =

(1)

You are addressing a group of students and you are asked what “cnme clearance rate” refers to
You answer that it refers to the .

1 percentage of cnme known to the police that results in the tracking down and arrest of
suspects

percentage of crminals that are awaiting trai prisoners

percentage of cnminals that were arrested and convicted

amount of cnime that 1s never detected

W

(1)
[25]
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SECTION B: Answer THREE questions ONE 25 mark question;
ONE 15 mark question; and
ONE 10 mark question
Answer one question (Number your answers exactly as they appear on the question paper)

1. Discuss retribution as an aim of purishment {(25)

2 Discuss correctional supervision as a form of punishment (25)

Answer one question (Number your answers exactly as they appear on the question paper)

3 Describe strategies for solving or alleviating the problem of over-crowding in prisons. (15)

4 “According to the indeterministic paradigm, people are viewed as rational beings who direct their
behaviour according to the prninciples of hedonism and utiitariarism ” Explain these assumptions
as a basis for deterrence {15)

Answer one question (Number your answers exactly as they appear on the question paper)

5 Bniefly discuss the Offender Rehabilitation Path (10)

6. Discuss the general principles underiying the imposttion of community-based sentences  (10)
(50]

Total: 75 marks

@
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Consult the iHlustration of a mark reading sheet on the reverse of this page and follow the instructions step by
step when working on your sheet

Instruction numbers & 10 @ refer to spaces on your mark reading sheet which you should fill in as
follows

1] Write your paper code n these eight squares, for instance

PIS|Y|{1[0]0]-[X

®

The paper nember pertains only to first-level courses consisting of twa papers

WRITE | O | 1 | for the first paperand | @ { 2 | for the second If only one paper, then leave blank

Fill in your mitials and surname
Fill 1n the date of the examination

Fill 1n the name of the examination centre

Q0000

WRITE the digits of your student number HORIZONTALLY (from lefi to nght) Begin by filling in the

first digit of your student number i the first square on the left, then fill i the other digits, each one in a
S¢parate squarc

o

In each vertical column mark the digit that corresponds to the digit in your student number as follows
[-]
WRITE your unique paper number HORIZONTALLY

NB Your unique paper number appears at the top of your examination paper and consists only of digits
{e g 403326)

@

(9] In each vertical column mark the digit that corresponds 1o the digit number in your umque paper
number as follows [-]

@ Question numbers | to 140 mdicate corresponding question numbers 1n your examnation paper The

five spaces with digits 1 to 5 next to each question number indicate an alternative answer to each
question The spaces of which the number correspond to the answer you have chosen for each question
and should be marked as follows (-]

’ For official use by the invigtlator Do not fill w any information here



